[ij Q\:&'«Y‘j

(A ¥ 2a0L) ¢ L ST
aliw! ZAge
(((;)) Es}d-u‘)

r19-wja i lleig—oJ



(P ol S AR £ LS - Aalalt 2 93 LA Psad 501 AL 531t 5lmcial

daga Cilaglas
Ve (£0) Glaie¥l il S Al sxe -
Aadea (YA) Glaie¥l i S ciladia s -

_@Mg@‘glﬁﬁ\ A S Cladia a3 g cAlind) e,éﬁc,u.ssu

(e la EDE) JLaaY) (g -

Aapa () JlaadU 4kl 4 ) -

D Agling laghad) oda 181 |, il (6 5ue

ALY e ol g g 8y Al dadie g latiel) Al S dadie 86l gas I Cilagledl) 1)
A b eadl 08 lam 48 S5 iy Jlsud) |

(J3m JS oo Jadd aal g Al AaY) gllaal) g ¢ zladd day e ALY ¢

ALY o e padindt Y g eilagua )l (B pabia ) A8l 5 ¢ A ) Y1 Cilall A aasid
Al Laadal daludl 8 caal cdllaa) Ahud elils) xie

: JLia

¢ Ll 5 LEY) a8 el a8 DY) JlaSiul Sy 5 AT dal sl dalall Al 8-
L8 58 5 Cagu Ala) e iSE il ()

L 488 (B) 4l (A) oo ceal 4,Laay) Alad) ) ce elila) xie

ran g ¢ aada (e JLERY) Aliad oo dlidy) aie

i OST SIS SIS Al AaY) e JIall el 3 s iall Jlls -

e (C) Al LaY) e

: dasaiall Ay

®O®

s LAY et dsaa dla) Cual g QL cudd o lad Al il 1Y Lo dlls 8-
Ut LR ot Uad sl y Clalll Cadd o ¢ g s Gl 1Y Lol -
; adigale
ad gl Jay e S Ao Jullail a3 1d) (dania e JLEAY)) die gida gal) ALY A B -
ad ey ad ¢ AlaY) ) S
2billg G1gily Sliol caurbi go

[1]

r1a-Gys i 123 o




(A 3oy 1 ARUL) o eI - dolaldl Al g3 LY At 531 ALY 3a1glds G Lomiial

Write all the chemical equations balanced | 4355 00wt OYslast pran LIS

including the conditions of the reaction: Jelal do gyl 3 ae
Answer the following questions: P AGY) AW e o
1. Choose to answer (a) or (b): 1(2) 91 (1) e Al W pind -\
Werite the scientific expression JIA (melalt llaast | oS!
indicated by the following statement: 13 Ll e
(a) Elements in which the sublevel (d) is | #Miel Lgd pubicy wlic (1)
occupied in squence by electrons. il g ST (d) o pad! 6 giaed
(b) The process of increasing the At A 3alay ddlee (o)
percentage of iron in the iron ore by Jiad ool (e AL LB
separating the impurities mixed with dae Ala et | Ll }ut
the ore.
2. Choose to answer (a) or (b): 1(@) 91 (1) e Aol W1 puinT - ¥
Write one economic importance of: + Bk g As LB Aredi S
(a) Citric acid il 55 yaes (1)
(b) Formic acid. dles ygall e (o)
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3. Choose to answer (a) or (b):
Explain:

(a) It is preferable to use iron in the form
of alloys not in its pure form.

(b) The electronic configuration of
chromium (,,Cr) is anomalous from
its expected electronic configuration.

(@) 91 (D) pe Al M pd -Y
: it
51310 (58 g pluial Jiady (1)
i1 gl B g il
raiad 59 I oS N Ay ()
Sy e 24CT g st
PEP-RIPEFS P

4. What 1s the type of polymerization that is
produced by esterfication of Terphthalic
acid and ethylene glycol? Mention the
name of the produced polymer.

8 )l UG U1 5 paldt pgile -
Ola¥ 1y LI ol ae
$ JsSul>
L redsd! ! HS31 @2

5. Explain:
The reaction of hydrochloric acid with
magnesium is a complete reaction, while
the reaction of acetic acid with ethanol is
a reversible reaction.

x}m'ﬂ -0
ElygdS gyt e Jelad
@l J.CM?WLQ—”H
E,.uli:u‘d.cm MY‘JPSJ‘
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6. Choose the correct answer: s dsvouall Al ¥ ) -1

25kt AL OMelait! gl

ole dasdll yai ad Ay ¥
SO15Y b g0

In which of the following balanced
reactions, the equilibrium position is not
affected by changing the pressure?

N2Osg = 2NOyg

PClg + Chy = PClsg
Nag) + 3Hap = 2NHsg
2NO@ = Nag *+ Oy

®066

7. Complete the table below to detect the | ca st 3L Jgiantt JaSi -V
given cations: 1 Ao 9ol O GISH (e

Cation detected | Group reagent for the cation | Chemical formula of the precipitate formed.
O 9GS O50IS Ae gosal| aals 095kl ! p1Y ASleaiSI| Aacat !

First: Calcium | ..o S S e A
cation

: ¥ gl

p ot ST (9618

Second:
Copper (II)
cation

(ID gttt o gts

[4]
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8. In the cell used for the purification of copper: s ulod) GG Ads D -A

First : Write down the equations that express (e pad GOV alaedl CaS 1+ ¥
the reactions that take place at each of the | wie wass 1 GMelayt

anode and the cathode. 25518319 3931 (ype JS
Second : Calculate the current intensity required |y, a1 231 Ll 5ud ol s Lo

for a quantity of electricity of 0.37 0.37 L fuizio £l ygS3 (y0 B

Faraday to pass for 40 minutes. iy 40 5t halyla

9. Show by chemical equations, how to obtain: | d_ &L O¥sladtly zusy -4
Benzene sulphonic acid from ethyne. Fole han S
(Mention the conditions of the reaction) | o= “hdgatas (i 2o

Jelaidl dog rd )83 as . (alia ¥
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10. Choose to answer (a) or (b): () 91 (1) e Al jud -\ ¢
Write the chemical name indicated by | jiuy il et S|
the following statement: 13 yleatt le

(a) An acid used to detect the anions of | adst 3 ansiun paes (1)
sulphide, sulphite and thiosulphate. Ao SOl S g5 (e

(b) Substances which are used to detect the | .l ;8 g1y coc I
end point of a reaction by changing their | s1azy Al 390 ()
colour as the reaction medium changes. | (g1, a Jelawtiale

Jelai dawy pediio

11. The following reaction has two Obilead S Jolaitt 8-\
equilibrium constant values at two

different temperatures:

:[,.ua.\.w:’ [na 3y g~
Hae +Brye = 2HBr(y Kc=1.3 x 10!? at 227°C
Hae +Brag = 2HBr(y Kc=3.8 x 10* at 727°C
Is the reaction exothermic or pelepilbdalaty da
endothermic? Explain your answer. SELD | st g0 31yl

(6]
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12.

©)
®
©
@

13.

14.

®O0E

Choose the correct answer:

The general formula of alkenes is:

CaHonsi
CnHon

CHHZH—Z
CnH2n+2

Explain:

The rate of the chemical reaction
increases as the concentration of the
reactants increases.

1 dovouall Al 5 -\ Y
:OLLSIMY Aalal| dacal!

¢ =\ Y
‘_,j\_y.“&.ﬂ J.CLQ:A.” :\.C).ul .s‘.\)'_?
e Latiol a1 god ) O3S 55 Baky 3o

Choose the correct answer:

On mixing equal volumes of hydrochloric
acid and sodium hydroxide solutions,

the concentration of each of them equals
0.1 M, the produced solution is:

Neutral.
Acidic.
Alkaline.
Amphoteric.

[7]

1 dovonall Al 2 -\ ¢
oS g yend g ) LS g g | pae
ol 0.1M Legin JS 5855 pgasguall

e (D)
L B
33 yia @
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15. How can you distinguish practically,
by using one experiment, between
methane gas and ethene gas?

A0y e} ELiSay S -V O

Oliead | HL& (et Sl 1 g Adas
S Cndu¥ 5Le g

Experiment

a pnit|

Methane gas.
OlietiHle

Ethene gas.
O ¥l

16. Choose to answer (a) or (b):

Show by chemical equations,

how to obtain:

(a) Cyclohexane from normal hexane.

(b) Diethylether from acetic acid.

1) 51 (1) oo Apla W1 a3 -\

WOl OYsLadlly oy

1le Juad aS

(A LSl (o ot Ol (1)

02> (o S ¥ AL 50 (@)
L
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17. Use the table below to compare
between Lead-acid battery and

Lithium ion battery:

I Jodtly Luaiuwa -1V
el 11 Ayl i (5L3

1P 9tellt (5l Agyliang

Total reaction
A3 Je e

produced emf
i s 1 bl 3l

Lead-Acid
battery

ol alay

Lithium ion
battery

051 A ylas
P gt

18. Show by chemical equations:

First : Roasting of iron ores.
(One example is required)
Second : Reduction of hematite in the

Midrex furnace.

1 A0l O¥ s laatbimdg -\ A
st Slels acess :;(3‘1

(A1g Jlies 4583)

558 b cailargd| g5t Loty

.wS)..\.ﬁ
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19. Choose to answer (a) or (b):
Write the scientific expression
indicated by the following statement:

(a) The minimum amount of energy that
must be gained by a molecule to react
at collision.

(b) The substance that causes a change in
the rate of chemical reaction without
either being changed or change the
equilibrium position.

1) 31 (1) 5 Agla ¥ puni -1

JIAT elall milaael) S

13 kalt ple

At DN (PR (IR (N ()

S st LeSliey OF com
plabbwo¥ e Jelat

Jelaidl Juas (pa i Balae (<)

9 3 Ol U9y il
OIS pdag (pe i

20. Choose to answer (a) or (b):
Show by a chemical equation, the catalytic
hydration (addition of water) of:

(a) Ethyne.

1(2) 91 (1) o Aala W1 i =Y
E e sl R Y O T)
1 (s Ledl ABLSY) Ao jond! 5yl
o2 (1)
¥ (2)

(b) Ethene.
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21. Choose to answer (a) or (b):

Explain:

(a) Dichloro, diflouromethane is used as
a cleaner of electronic devices.

(b) Ethyl alcohol and dimethyl ether
have different properties, although
they have the same molecular formula
(C,H,0)

1(2) 91 (1) He Al W i - Y

Z}L“.a

~9088 LS LS pad! puiu (1)
AateS Ll (e g yath LS
RVPISS) (FIVELY

Y J9nSI palgs BMSI ()
Jaal! 3L 3] yals (e
2\_5_“5«.4_“ ‘;ﬁ Lo_éjl_a_“ P_é)
-(C, H, O) &ojantl

22. Choose the correct answer:

Iron dissolves in diluted acids to give:

iron (II) salts.
iron (1) oxide.
iron (III) salts.

iron (III) oxide.

®OeE

1 dovonall Al Wi o) =YY
ua\-ugﬁﬂ‘,ﬂ NENEA (FEPWe)

gy Adddvell
(ID wam et (1)
(ID s> sl ()
(D) s e3el &)
(D > wesi ()
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23. Show by a chemical equation: A0S Al slaat by masg - YY
the thermal catalytic cracking of St (G pnd ) oS
octane. -ols o

24. Explain: s puwd =Y
Silver nitrate solution is used to Jeeild Aall Oy J gloms potdni
differentiate between sodium sulphite and | p3229at! S S I gdos (o
sodium sulphide solutions. pyagall wdarS

25. Show by chemical equations, 1 4O LS O¥ slaat by sy -Y0
how to obtain:

M e Juami ol
Trinitrophenol from Chlorobenzene Sy slS (pe J g g 5
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26. The figure represents a galvanic cell
after a time of operation.

Aolale Ads JS AN Jiien - Y1
¢ LGLRAT (e 5,58 day

First: Choose the correct answer:
Which of the following statements
1s correct?

The mass of both (Mg) and (Pb) poles
increases.

The mass of (Pb) pole increases, while
the mass of (Mg) pole decreases.

The mass of (Pb) pole decreases, while
the mass of (Mg) pole increases.

The mass of both (Mg) and (Pb) poles
decreases.

® 0 @

Second : Calculate the electromotive force of
the cell (emf) knowing that:

Reduction potential of (Mg) = (-2.37 V)

Reduction potential of (Pb) = (=0.13 V)

PPN {F PSS EU I P
AL SlHleatl e sl

Ao o

ot e s assinys ()
. (Pb) 5 (Mg)
(Pb) casats sis ()
- (M) o auis yasg
(Pb) s ais a5 ()
. (M) a3 atis s1s 334
il (e s ats gas (3)
-(Pb) 5 (Mg)
o pSH Aadladl Bedl sl LAE
1335 g ol Lale 12508 (emf)
(-2.37V) = (Mg)
(=0.13 V)= (Pb) Jlzalag>
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27. The electronic configuration of silver | a_aalr 9,5 ajoidt =YV

is [, Kr]: 55',4d" joKr:5s', 44"
First : Why is silver considered a s A atl pial 13lat ¥ i
transition element? SAIEDY o lial!

Second : Calculate the solubility
product of silver chloride
(AgCl). Knowing that: its
degree of solubility at a certain
temperature is 1x 10~ mol/L digan Byl p> A 3 wic sLd!

.1x10”° mol/L gglus

Y ol dad conl Lol

(AgCl) anatl wjygiS plad
o3 Lelugs s 0l Lele
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28. Choose to answer (a) or (b):

Write the scientific expression indicated

by the following statement:

(a) The mass of the substance that has
the ability to lose or gain one mole of
electrons during the chemical reaction.

(b) The process of forming a thin layer of
a certain metal on the surface of another
metal to protect it from corrosion or to
give it a shiny appearance.

29. Explain:

The magnetic moment increases through
transition series till reaching manganese
(,;Mn), and decreases afterwards.

30. Choose the correct answer:

OH
|

The compound 2-propanol CH3-CH-CHJ

is oxidized by potassium dichromate

acidified by conc. sulphuric acid giving:

CH,COOH
CH,COCH, + H,0
CH,CHCH,
CH,COCH, +H,

®O06

1(2) 51 (1) (e Aala M1 s - YA

JIA elal! et LS|

xS)L}.ﬁN‘,lc

A e B yuall gt 1 Baladt 28 (1)
Ollig SIW (o ity J g oluiS) g
eI Je it s s

e Ho (po 12 Wil (555 Bkas ()
S (o dulesd p3f 38 mlau
Aae¥ yglae dillac o

twd =Y
e grrumtolietlppa sl
Al by i BIEBY) Al
A1 iy Ja @3 (25MD) el

1 Aovonall Al o) =Y
QH
CH3-CH-CHs Jsiligp -2 o8 yalf sl

2 dagnsd| H.“wuk.ﬂ Clag,s UJLL!
.... Al iy

CH,COOH @)
CH,COCH,+HO @
CH,CHCH, ®
CH,COCH, +H, ®
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31. When sodium sulphate solution was
added to a solution of barium chloride,
4g of barium sulphate is precipitated,
according to the following equation:

A ga guall L i€ Jglome sl =1
gt dyelS Jodloa
p93bd) Sl S (0 4 o i

1 ddalaell mj

BaCl, + Na,SO; —— BaSO4 + 2NaCl

Calculate the mass of barium chloride in

the solution, given that.
[Ba= 137, CI=35.5, S=32, O=16]

32. Choose the correct answer:

The metal that is used to protect ships
chassis from corrosion is:

Copper.
Silver.

Gold.

®O0G

Magnesium.

o pabd! d)elS ALS Cows

:0b Lale Jgloat!
[Ba= 137, C1=35.5, S=32,
0= 16]

t Aowoual |l A3l sl =YY
Wlestd pcsiiw gt Hatl
.. 9o JSTI o (it JSL
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33. By using the table below, how to -V i (I PR (1Y Ligaaca >S9
distinguish practically between: S pkeS + (it Lol i

Ao guall Olawgdy pgas guall

Sodium sulphate and sodium phosphate.
O¥ alaet) Al G out

(Without writing chemical equation)

Reagent Sodium sulphate sodium phosphate
adalsy A9 gl Ol 1S P93 guall Olaw g
34. Choose to answer (a) or (b): (@) 91 (1) He Ml jixd -YE
Show by chemical equations how to obtain: | | 1o Lasi 28 C¥aladtly T
(a) Sodium benzoate from toluene. as el (ye o503 gl Sl 3 (1)
(b) Acetamide from acetic acid. ¥ e (o sl (0)

r1a-Gys i 123 o
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35. Complete the table below to ALaer I Jouand! JaSi -YO
correspond the chemical name of the + AL Addual oS ol f @l

compound with its structural formula.

Chemical name Structural formula
HleaSI @Y AL dacal

5
' | 4-bormo-1-chloro-2-nitro benzene.

)

wn

-E O rag iy 2 —gy91S —1-gag,m -4

3

~ CH,= CH-CH-CH,-CH
= | 3
S CH,

<P}

N
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36. Show the degree of the electrical
conductivity of acetic acid solution in
the table below, Then write the ionic
equation of the ionization of acetic acid.

A lnel S Juagld A g3 g Y
L Jgdandly Sl (aes
Ol AW Aalaedl LOSH @

1 paed|

Experiment

a pniid

Observation
daaligt)

Testing the
electrical

conductivity
of 0.1M acetic

acid solution.

&«.«agﬂijl..&:'.‘
Joboad (2 eI

First / ¥,i

ui\:C&w‘Y‘ e

0.1M

Testing the

electrical
conductivity
a

3. | of acetic acid
solution 0.1M

when diluted
to 0.001M

Second / .

Jglonal| i ie

0.1M
0.001M

Ionic equation: ..............

1a-Gys i 123 o
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37. Choose to answer (a) or (b):

Write the scientific expression

indicated by the following statement:

(a) Hydroxy aromatic compounds where
one or more hydroxyl groups are
directly attached to the carbon atoms
of the benzene ring.

(b) A group of compounds that have a
common general molecular formula,
and chemical properties but graduated
in their physical properties.

38. Express by a balanced chemical equation:

The colour change when heating nitrogen
dioxide gas in a closed glass flask.

() 91 (1) pe Ml ¥ jixd YV
S alall e llainet S
13 ylalt e
adleg)l auleuSgyuns GLS 4 (1)
oS gy A gamn lgd s
03,8 Ol Byilee ST
LgaoaOLS pati(poie gams (o)
G b gple i Ogild
Ty Alas) Lol
Al Lol gs B

O alesd Wilaedly e -YA

Lis (9l (o8 Sra Lot i

o Glas o> Lx) )93 (v
O 9 | ST (A ole
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39. Choose the correct answer:

A solution of weak acid (HA) has degree
of ionization 2 x1072. If the concentration
of (HA) is 0.25M, The ionization
constant (Ka) of the acid is:

1 x10°
2 x 107
1 x10*
2 x10*

®OeE

40. Explain:

Adding molten cryolite containing a
little of fluorspar to bauxite ore during
extraction of aluminum electrically.

41. What is the role of salt bridge in
galvanic cells?

t dovonall Al o) =Y
ols 31a 2 X 107 anls as
cols old 0.25M 658,35

..... gjuquanh!

1x10° (D)
2x10° ©
1x10* &
2x10* (3

x).m.‘ﬂ =&
e Gl Sl 9 )< Hgguaa Bliay
S gl pla o] slaauyslall (o Sl
Lo g p guicn 1Yy Miias! i

o2 Amball 5 ybai@l y9s Le - ¢\
SAGLALN ) LI
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42. Show by a chemical equation: 1 AOLeSH Waladl sy -8 Y
Hydrolysis of Aspirin. NEE UL YL (DU TP |
43. Choose to answer (a) or (b): () 91 (1) oo Wl T -¢Y
Show by chemical equations, how to obtain: | 4_a(est OWsLadll mudg
(a) Iron (II) sulphate from iron (II) 1 ole Juand oS

Oxalate: sy | o (1) apas S5 (1)
(b) Magn.etlc iron oxide from iron (III) (1) i YL 5
hydroxide. (3o sslalii s cesasST ()
() g S 9y

Q- gja i lleig_—o0J
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44. 3 g of impure KOH is dissolved in pguuligd! LuSgyiud (ya 38 ol -8
water and the solution is completed to be | Jasiy Lot b aad & KOH
250 ml. 20ml Jalas 1318 250ml 11 J glowalt
If 20 ml of this solution neutralize 30 ml | Jgtos (po 30ml ps Jgtonad 102 (10
of 0.1M hydrochloric acid. Calculate )9S g gl yaes (0 0.1M
the percentage of KOH in the sample. Al 8 g i )k ot |
[Providing that: molecular mass of e g g A jond| ALY o lale
KOH= 56]. [KOH = 56] pgualisd!

45. First : Show by a chemical equation | ddleest dlalaetlipy Mgl 50
the preparation of methane in | Ja glicedt jLé jias
the laboratory. : Janal!

Second : How can you obtain ethyne

Ol e Juamd 2 Lol
from methane gas?

RERUETER

r19-wja i lleig—oJ



